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2018 Tnpsc Geography Questions In English 
1. Which of the following state has the largest land area affected by salinity? 

 (A) West Bengal  (B) Uttar Pradesh  (C) Haryana  (D) Odisha 

2. The last great ice age was existed during the 

 (A) Pliocene period   (B) Pleistocene period 

 (C) Miocene period   (D) Triassic period 

3. The forest which is known as ‘the lungs of the Earth’ is 

 (A) Tundra forest   (B) Taiga forest 

 (C) Amazon rain forest  (D) Mangrove forest 

4. The ‘Open Sky’ introduced in 1992 of Aviation by the Indian Government is associated with 

 (A) Passenger Transport  (B) Cargo Transport 

 (C) Defence Transport  (D) VIP Transport 

5. “Being the largest country in South Asia, India decided of unilateral concessions to neighbours in 

the Sub-continent” is the essence of the 

 (A) Panchsheel   (B) Gujarat Doctrine 

 (C) Look East Policy   (D) Peaceful Co-existence 

6. Match the following and choose the correct answer 

 Place of Earth Quake  Year 

(a) Koyna    1. 2001 

(b) Kangra    2. 1991 

(c) Bhuj    3. 1967 

(d) Uttar kasi    4. 1905 

(a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 2 3 1 4 

 (C) 4 1 3 2 

 (D) 1 2 4 3 
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7. Match the following List I with List II refer to India’s relations with her neighbours: 

  List I     List II 

(a) Colomboo Proposals  I. India – China 

(b) Farakka Barrage   II. India – Pakistan 

(c) Nehru-Kotewala Agreement III. India – Bangladesh 

(d) The Simla Accord   IV. India – Srilanka 

(a) (b) (c) (d) 

 (A) I III IV II 

 (B) IV III II I 

 (C) IV II III I 

 (D) I II III IV 

8. Which one of the following was related to Kashmir dispute between India and Pakistan 

 (A) The McNaughton Plan  (B) The Dixon Proposals 

 (C) The Graham Mission  (D) The Tashkent Agreement 

9. In which city Theosophical society was founded? 

 (A) Washington (B) New York  (C) Salisbury  (D) Rome 

10. In which year Indian Coast Guard formally established as an independent organization. 

 (A) 1978  (B) 1976  (C) 1974  (D) 1972 

11. Match the following: 

  Crop   States 

(a) Wheat  1. Kerala 

(b) Rubber  2. Uttar Pradesh 

(c) Coffee  3. Maharashtra 

(d) Groundnut  4. Karnataka 

(a) (b) (c) (d) 

 (A) 1 2 3 4 

 (B) 2 1 3 4 

 (C) 2 1 4 3 

http://www.winmeen.com/


Geography                                                                                  Prepared By www.winmeen.com 

 

Learning Leads To Ruling                                    Page 3 of 18 

 (D) 3 4 2 1 

12. The river which is known as Sorrow of Bihar is 

 (A) Kosi  (B) Tista  (C) Ken  (D) Damodar 

13. Match the following: 

 (a) Sindri fertilizer  1. Sodium nitrate 

 (b) Chile nitre   2. Calcium cyanamide 

 (c) Nitrolim   3. Ammonium sulphate 

 (d) Nangal fertilizer  4. CAN 

  (a) (b) (c) (d) 

 (A) 2 4 1 3 

 (B) 3 1 2 4 

 (C) 4 3 2 1 

 (D) 1 2 4 3 

14. In which year, HIMANSH, India’s Remote, High-Altitude station opens in the Himalayas? 

 (A) 2014  (B) 2015  (C) 2016  (D) 2017 

15. Shimla hill station is located in 

 (A) Himachal Himalayas   (B) Siwalik range 

 (C) The Greater Himalayan range  (D) Trans Himalayas 

16. Aghil pass connects 

 (A) Tamil Nadu and Kerala  (B) Arunachal Pradesh and Tibet 

 (C) Karakoram and Ladakh (D) Sikkim and Lhasa 

17. Normal lapse rate of temperature in the atmosphere is 

 (A) 6.5oC per 1000m   (B) 5.0oC per 1000m 

 (C) 6.0oC per 1000m   (D) 7.5oC per 1000m 

18. Trade wind blow from 

 (A) Equatorial low pressure belt  (B) Sub-polar low pressure belt 
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 (C) Sub-tropical high pressure belt  (D) Polar high pressure belt 

19. Consider the following statement, choose the correct answer using codes given below: 

 (i) India contributes about 60% of the mica in the world. 

 (ii) Major mica producing states of India are Andhra Pradesh, Jharkhand, Bihar and Rajasthan. 

 (A) (i) only correct   (B) (i) and (ii) are correct 

 (C) (ii) only correct   (D) Both (i) and (ii) are wrong 

20. When was the “River Information System” was inaugurated first time in India? 

 (A) June 2016  (B) July 2016  (C) February 2016 (D) January 2016 

21. Which planet is not an inner planet of the following? 

 (A) Mercury  (B) Venus  (C) Mars  (D) Jupiter 

22. Which proportion the Pakistan and India divide the total water of the system? 

 (A) 50 : 50  (B) 60 : 40  (C) 70 : 30  (D) 80 : 20 

23. Which of the following rivers does not originate in India? 

 (A) Beas  (B) Sutlej  (C) Ravi  (D) Chenab 

24. Arrange the following Peaks in descending order of height 

 1. Kanchenjunga 2. Makalu  3. Dhaulagiri  4. Nanda Devi 

 (A) 1, 2, 3, 4  (B) 1, 2, 4, 3  (C) 4, 3, 2, 1  (D) 2, 1, 3, 4 

25. The most important reason for the decrease of biodiversity is 

 (A) Habitat pollution   (B) Introduction of exotic species 

 (C) Over – exploitation  (D) Habitat destruction 

26. March the following: 

  Currents   Ocean 

(a) Labrador current  1. South Atlantic ocean 

(b) Kuroshio current  2. Indian ocean 

(c) Leeuwin current  3. Pacific ocean 

(d) Falkland current  4. North Atlantic ocean 

(a) (b) (c) (d) 
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 (A) 1 3 4 2 

 (B) 2 4 3 1 

 (C) 4 3 2 1 

 (D) 4 2 1 3 

27. Which of the following is not a grassland? 

 (A) Downs  (B) Canterberry (C) Pampas  (D) Gobi 

28. Which of the following is not a fresh water lake? 

 (A) Sambhar lake (B) Dal lake  (C) Chandra lake (D) Wular lake 

29. Which of the following is not a major port of India? 

 (A) Kandla  (B) Kochi  (C) Daman  (D) Paradwip 

30. India’s research stations ‘Dakshin Gangotri and Maitri’ are located in 

 (A) Arctic circle   (B) Antartica 

 (C) International Space Station (D) Himalayas 

31. Which state of India is the largest Tea producer? 

 (A) Tamilnadu  (B) Kerala  (C) Assam  (D) Karnataka 

32. Capital (City) of Uganda 

 (A) Kampala  (B) Keiro  (C) Sharja  (D) Havana 

33. What is the contribution of India towards the world mica production? 

 (A) 40%  (B) 60%  (C) 66%  (D) 50% 

34. Which of the following deserts does not lie in the Northern Hemisphere? 

 (A) Gobi  (B) Kalakari  (C) Sahara  (D) Thar 

35. Name the location of Evergreen forest 

 (A) Temperate region   (B) Equatorial region 

 (C) Subtropical region  (D) Polar region 

36. Which plant roots yield powerful Alkaloid, named ‘Atropine’? 

 (A) Dautura Stramonium  (B) Withania Somnifera 
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 (C) Solanum trilobatum  (D) Atropa beelladons 

37. The most important city on the western side of the Gangetic Plain is 

 (A) Panipat  (B) Simla  (C) Delhi  (D) Kolkata 

38. Which is the national river of India? 

 (A) Brahmaputra (B) Godavari  (C) Ganges  (D) Cauvery 

39. Which is the largest river by discharge volume of water in the world? 

 (A) Nile river  (B) Amazon river (C) Yangtze river (D) Mississippi river 

40. Which country is known as the land of White elephants? 

 (A) Srilanka  (B) Malaysia  (C) Thailand  (D) Indonesia 

41. Which of the following is known as “Selvas”? 

 (A) Mangrove forest   (B) Evergreen forest of Amazon 

 (C) Deciduous forest   (D) Thorn forest 

42. The position of earth farthest from the sun is termed as 

 (A) Perihelion  (B) Aphelion  (C) Solstice  (D) Equinox 

43. Which of the following oceans are connected by Panama Canal? 

 (A) Pacific and Indian Ocean  (B) Pacific and Atlantic Ocean 

 (C) Atlantic and Indian Ocean (D) Atlantic and Artic Ocean 

44. Which of the following country is not included in “Fragile Five”? 

 (A) Brazil  (B) India  (C) Nepal  (D) South Africa 

45. Which layer of the atmosphere is rich in ozone? 

 (A) Troposphere (B) Stratosphere (C) Ionosphere (D) Exosphere 

46. The grassland of Eurasia is called 

 (A) Pampas  (B) Velds  (C) Downs  (D) Steppe 

47. The dam which is known as Stanly reservoir is 

 (A) Tehri  (B) Kosi  (C) Hirakud  (D) Mettur 

48. Match the following with suitable options: 
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  I  II 

 (a) Amazon  1. Asia 

 (b) Thames  2. India 

 (c) Irawathi  3. Temperate region 

 (d) Ganges  4. Tropical region 

  (a) (b) (c) (d) 

 (A) 4 3 1 2 

 (B) 4 3 2 1 

 (C) 4 2 1 3 

 (D) 4 1 3 2 

49. BHOPAL SHATABDI is the fastest train connects Bhopal and 

 (A) Mumbai  (B) New Delhi (C) Alahabad  (D) Kolkata 

50. Match the following: 

 (a) Chloro fluro carbon  1. Green House gas 

 (b) Carbon di oxide   2. Ozone 

 (c) Stratosphere   3. Hydro carbon 

 (d) Butane    4. Freon gas 

  (a) (b) (c) (d) 

 (A) 1 2 4 3 

 (B) 2 1 3 4 

 (C) 4 1 2 3 

 (D) 3 2 4 1 

51. Match List I with List II correctly and select your answer using the codes given below: 

  List I    List II 

(a) Dudhwa National Park  1. Karnataka 

(b) Nagarhole National Park  2. Madhya Pradesh 
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(c) Ranthambore National Park 3. Uttar Pradesh 

(d) Kanha National Park  4. Rajasthan 

(a) (b) (c) (d) 

 (A) 3 1 4 2 

 (B) 3 1 2 4 

 (C) 1 2 4 3 

 (D) 1 2 3 4 

52. CAN, Europe has reported Demark as the best performing nation followed by Sweden. What is 

CAN and what for it has ranked the countries? 

 (A) Central Authority for Nations, for high literacy rate 

 (B) Committee of Network of Knowledge for high literacy rate 

 (C) Cyber Advanced Network, for low cyber crime rate 

 (D) Climate Action Network, for low CO2 emission 

53. How many wildlife sanctuaries are present in India? 

 (A) 472  (B) 482  (C) 492  (D) 502 

54. Which year the world’s biggest aircraft manufacture, the Seattle – based Boeing company was 

born? 

 (A) 1900  (B) 1916  (C) 1932  (D) 1945 

55. Terra – Rossa soil is associated with 

 (A) River  (B) Wind  (C) Waves  (D) Karst Region 

56. Which of the following is the highest volcanic mountain? 

 (A) Cotopaxi  (B) Krakatova  (C) Stromboli  (D) Vesuvius 

57. National Forest Policy – 1952 announced about __________ percent of the area under forest in the 

total geographical area. 

 (A) 33 percent (B) 35 percent  (C) 37 percent  (D) 39 percent 

58. How much of sea level is raising every year? 

 (A) 3.16 mm  (B) 4.16 mm  (C) 7.10 mm  (D) 9.10 mm 
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59. The planet which is known as morning and evening star is 

 (A) Venus  (B) Mars  (C) Uranus  (D) Earth 

60. Which of the following landforms are produced by wind action? 

 1. Barkhan 2. Mushroom rock 3. Alluvial fans 4. Sand dunes 

 (A) 1 and 2 only (B) 2 and 3 only (C) 1, 2 and 4 only (D) 2 and 4 only 

61. Indira Gandhi National Park is located in 

 (A) Kerala  (B) Sikkim  (C) Bihar  (D) Tamil Nadu 

62. Match: 

 Wildlife Sanctuary  State 

(a) Brahma giri  1. Tamil Nadu 

(b) Sathyamangalam  2. Rajesthan 

(c) Bassi   3. Karnataka 

(d) Kedaranath  4. Uttarhand 

(a) (b) (c) (d) 

 (A) 3 1 2 4 

 (B) 2 1 3 4 

 (C) 3 1 4 2 

 (D) 4 1 3 2 

63. The longest lunar eclipse of the 21st Century took place on 

 (A) June 27, 2018   (B) July 27, 2018 

 (C) August 27, 2018   (D) September 27, 2018 

64. Name the river which is contributing more than one third of water supply to our country 

 (A) Krishna  (B) Brahmaputra (C) Ganga  (D) Godavari 

65. Which River is known as “Tsangpo”? 

 (A) Ganga  (B) Brahmaputra (C) Yamuna  (D) Godavari 

66. Black soil is otherwise known as 

 (A) Saline soil  (B) Regur soil  (C) Swampy soil (D) Arid soil 
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67. India’s first scientific and modern Wildlife genetic resource bank is initiated at 

 (A) Tiruppathi  (B) Vijayawada (C) Hyderabad (D) Vishakapatnam 

68. Name the dam constructed across the river Mahanadi 

 (A) Bakranangal (B) Hirakud  (C) Krishna  (D) Mettur 

69. In India which state ranks first in onion production? 

 (A) Madhya Pradesh  (B) Maharashtra (C) Tamil Nadu (D) Punjab 

70. Match: 

 Grassland  Regions 

(a) Prairies  1. North America 

(b) Downs  2. Newzeland 

(c) Velds  3. South America 

(d) Pampas  4. Central America 

(a) (b) (c) (d) 

 (A) 4 3 2 1 

 (B) 3 2 1 4 

 (C) 2 1 4 3 

 (D) 1 2 3 4 

71. Which of the following becomes the 11th Biosphere Reserve of India? 

 (A) Nilgiris – Wayanad  (B) Mannar Bay 

 (C) Khangehendzonga  (D) Nilgiri 

72. Which of the following is called as ‘King of Oil seeds’? 

 (A) Olive  (B) Castor  (C) Groundnut  (D) Sesame 

73. The world’s smallest land fern is discovered in 

 (A) Thorn forest of Pakistan  (B) Amazon forest 

 (C) Coniferous forest of Canada (D) Western Ghat of India 

74. Which is the biggest nuclear power station in India? 

 (A) Kalppakkam (B) Bangalore  (C) Tarapur  (D) Kanpur 
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75. Which of the following state is worst hit by heavy rain of SW monsoon in 2018? 

 (A) Kerala  (B) Tamilnadu  (C) Mumbai  (D) Bihar 

76. The percentage of Nitrogen present in the atmosphere is 

 (A) 45%  (B) 28%  (C) 78%  (D) 8% 

77. Which one of the following does not affect the horizontal distribution of Temperature? 

 (A) Nature of Land Surface  (B) Ocean Currents 

 (C) Sea – Waves   (D) Salinity od Sea Water 

78. Match: 

  Trench  Ocean 

(a) Mariana Trench  1. South Pacific Ocean 

(b) Peru Trench  2. South Atlantic Ocean 

(c) Sandwich Trench  3. Indian Ocean 

(d) Sunda Trench  4. North Pacific Ocean 

(a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 1 2 3 4 

 (C) 3 4 1 2 

 (D) 2 3 4 1 

79. Which of the following State to get first cow Sanctuary? 

 (A) Punjab  (B) Haryana  (C) Rajasthan  (D) Gujarat 

80. Which of the following statement is not correct regarding Igneous rocks? 

 (A) Igneous rocks are generally hard 

 (B) Igneous rocks do not have strata 

 (C) Igneous rocks contain fossils 

 (D) Igneous rocks are mostly associated with the volcanic activities 

81. The delta of which river is known as Sundarban delta? 

 (A) Cauvery  (B) Ganga  (C) Narmada  (D) Godavari 
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82. The largest coral reef in the world is found near the coast of 

 (A) Australia  (B) Cuba  (C) Ghane  (D) Philippines 

83. Match the following: 

 Multi purpose projects Rivers 

  (Dams) 

(a) Hirakud   1. Kaveri 

(b) Mettur   2. Mahanandi 

(c) Tehri   3. Narmada 

(d) Sardar Sarovar  4. Bahirathi 

(a) (b) (c) (d) 

 (A) 2 1 4 3 

 (B) 1 2 3 4 

 (C) 1 3 4 2 

 (D) 4 1 3 2 

84. Coniferous trees are found mostly in 

 (A) Deccan Plateau   (B) Eastern Coast 

 (C) Western Coast   (D) Middle Himalaya 

85. Match the following: 

  Vegetation type  Average Annual rainfall (mm) 

(a) Evergreen forest   1. 50 – 100 

(b) Monsoon forest   2. Below 50 

(c) Dry forest    3. Above 200 

(d) Desert forest   4. 100 – 200 

(a) (b) (c) (d) 

 (A) 1 3 4 2 

 (B) 2 3 1 4 

 (C) 3 4 2 1 

 (D) 3 4 1 2 
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86. Vansda National Park is located in 

 (A) Assam  (B) Uttar Pradesh  (C) Gujarat  (D) Bihar 

87. In the Indian peninsular what type of forest are found 

 (A) Coniferous forest   (B) Tropical forest 

 (C) Monsoon forest   (D) Sub – Tropical forest 

88. Which one of the following is not a tiger reserve? 

 (A) Bhagwan Mahavir (B) Gir  (C) Indravathi  (D) Ranthambore 

89. Which one of the following National parks is not correctly matched? 

 (A) Balpakhran – Meghalaya  (B) Panna – Bihar 

 (C) Molem – Goa   (D) Ban Vihar – Madhya Pradesh 

90. Match the following: 

 National parks  States 

(a) Anshi   1. Rajasthan 

(b) Bandipur   2. Karnataka 

(c) Desert park  3. Tamilnadu 

(d) Guindy   4. Karnataka 

(a) (b) (c) (d) 

 (A) 2 4 1 3 

 (B) 1 2 3 4 

 (C) 3 1 2 4 

 (D) 1 3 2 4 

91. The high yielding variety of wheat used in Green revolution was developed in 

 (A) Germany  (B) Netherland (C) Mexico  (D) Brazil 

92. Out galaxy is called Milky way. Which is our nearest galaxy? 

 (A) Ganny Meda (B) Andro Meda (C) Sirius   (D) Proxima Centauri 

93. Sturzstrom is associated with 

 (A) Avalanches (B) Cyclone  (C) Anti cyclone (D) Landslide 
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94. Instrument used for measuring wind speed is 

 (A) Thermo meter (B) Baro meter (C) Anemo meter (D) Seismo meter 

95. Bhakra – Nangal project is 

 (A) A project of Punjab 

 (B) A joint venture of Punjab and Haryana 

 (C) A joint venture of Punjab, Haryana and Himachal Pradesh 

 (D) A joint venture of Punjab, Haryana and Rajasthan 

96. What is called the Ganga of South India? 

 (A) The Kaveri (B) The Vaigai (C) The Godavari (D) Thamiraparani 

97. Which of the following rivers originate from the Mansarovar lake? 

 1. Ganga  2. Sindhu  3. Satlej 4. Brahmaputra 

 (A) 3 and 4  (B) 2 and 4  (C) 1, 2, 3 and 4 (D) 2, 3 and 4 

98. Doon valley is located in which part of Himalayas range? 

 (A) The Great Himalaya  (B) Middle Himalaya 

 (C) The Siwaliks Himalaya  (D) Upper Himalaya 

99. Regur soil is highly suitable for the cultivation of 

 (A) Sugarcane  (B) Rice (C) Maize  (D) Cotton 

100. Who launched Narmada Seva mission for conservation of Narmada River? 

 (A) President of India   (B) Vice President of India 

 (C) Prime Minister of India  (D) Chief Minister of Madhya Pradesh 

101. What is the study of soil called? 

 (A) Pomology  (B) Phycology  (C) Pedology  (D) Mycology 

102. How many bio diversity Hot Spots in the world? 

 (A) 10  (B) 34  (C) 20  (D) 25 

103. Which is called “Sorrow of bihar”? 

 (A) The Mahanadi (B) The Damodar (C) The Chambal (D) The Kosi 
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104. Match the following: 

 (a) Indus  1. Manjira 

 (b) Ganga  2. Ravi 

 (c) Godavari  3. Hugli 

 (d) Kaveri  4. Bavani 

  (a) (b) (c) (d) 

 (A) 1 3 2 4 

 (B) 2 3 1 4 

 (C) 3 4 1 2 

 (D) 2 1 3 4 

105. The shifting cultivation is known by the name of “Milpa” in 

 (A) Brazil  (B) Zaire  (C) Indonesia  (D) Central America 

106. Match List I with List II 

 Major Flood    Disasters 

  List I   List II 

(a) China   1. St. Francis 

(b) Pennsylania  2. Assam 

(c) Los Angeles  3. Hwang Ho 

(d) India   4. Johnstown 

(a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 3 4 1 2 

 (C) 2 1 3 4 

 (D) 3 1 2 4 

107. Which Tamil Nadu State Highway among these was not upgraded as National Highway in 

November 2017? 

 (A) Tirupur – Odanchatram State Highway 
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 (B) Salem – Triputhur – Vaniyambadi State Highway 

 (C) Kodaighat – Kodaikanal State Highway 

 (D) Chennai – Ennore State Highway 

108. Match the following: 

 (a) Assam   1. Podu 

 (b) Andhra Pradesh  2. Mashan 

 (c) Madhya Pradesh  3. Ponam 

 (d) Kerala   4. Jhum 

  (a) (b) (c) (d) 

 (A) 3 1 2 4 

 (B) 2 3 4 1 

 (C) 1 2 3 4 

 (D) 4 3 2 1 

109. Match the following: 

 (a) Ranthambore  1. Assam 

 (b) Manas   2. Jharkhand 

 (c) Nagarjuna sagar  3. Andhra 

 (d) Palamala   4. Rajasthan 

 (e) Indravathi   5. Chattisgarh 

  (a) (b) (c) (d) (e) 

 (A) 4 1 3 2 5 

 (B) 4 2 1 3 5 

 (C) 1 4 3 5 2 

 (D) 3 1 4 2 5 

110. Match: 

  Tribe   Region 
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(a) Masai  1. Angola 

(b) Saami  2. Kenya 

(c) Kalinga  3. Philippines 

(d) Bush men  4. Siberia 

(a) (b) (c) (d) 

 (A) 2 4 3 1 

 (B) 2 1 3 4 

 (C) 1 2 3 4 

 (D) 4 3 2 1 

111. Humboldt ocean current is otherwise known as 

 (A) Kuroshio current   (B) Oyashio current 

 (C) Peru current   (D) Florida current 

112. ‘Sea Smoke’ is common in 

 (A) Equatorial region   (B) Desert region 

 (C) Atlantic ocean   (D) Arctic region 

113. Identify the mismatch: 

 (A) White revolution  - Milk  (B) Green revolution  - Food grains 

 (C) Blue revolution  - Fish  (D) Yellow revolution - Flowers 

114. India’s first bio-fuel flight was operated between 

 (A) Dehradun to Delhi  (B) Dehradun to Mumbai 

 (C) Dehradun to Kolkata  (D) Dehradun to Chennai 

115. The crop which gets affected by pink ball worm is 

 (A) Banana  (B) Wheat  (C) Mango  (D) Cotton 

116. Which of the following statements regarding soil are correct? 

 I. Soil is a dynamic natural element 

 II. It is composed of both mineral and organic matter 

 III. The characteristics of soils depend on parent rock 
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 IV. All the soils having well developed soil profile 

 (A) All are correct   (B) I, II and III are correct 

 (C) I, II and IV are correct  (D) I, III and IV are correct 

117. Name the place where the River Ganga and Yamuna joins? 

 (A) Allahabad (B) Hyderabad  (C) Delhi  (D) Agra 

118. Name the dam constructed across the River Sutlej 

 (A) Hirakud dam (B) Bakra Nangal dam (C) Kosi dam  (D) Mettur dam 

119. Which district of Tamil Nadu produces the highest output of food grains? 

 (A) Villupuram (B) Cuddalore  (C) Thanjavur (D) Nagapattinam 

120. The national fruits which is common for Phillipines, Pakistan and India is 

 (A) Banana  (B) Fig   (C) Mango  (D) Jack 

121. In which city the first Nepal – India “Think Tank summit” was hold? 

 (A) New Delhi (B) Kathmandu (C) Dehradun  (D) Kolkata 
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